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8. The square roots of 1+  are            i . 

9. The definition of zcos  is               . 
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18. The definition of zcos  is               . 
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37. The main argument and the modulus of the number i+1  are          . 

38. The square roots of  are            )0( >AAi . 

39. The definition of zcos  is               . 
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42. If  denotes the circle centered at  positively oriented and  is a positive 
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46. =)sin( 5 ze
dz
d z                  . 

47. The main argument and the modulus of the number i−1  are          . 

48. The square roots of 1+  are            i . 

49. The definition of  is               ze . 
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56. =ze
dz
d z 25 sin                  . 

57. The main argument and the modulus of the number 1−i  are          . 

58. The square roots of  are            )0( >BBi . 

59. The definition of zcos  is               . 
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62. If  denotes any simple closed contour and  is a point inside C , then C 0z
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63. The radius of convergence of the power series  is            ∑
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⎠
⎞

⎜
⎝
⎛

nz
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66. The main argument and the modulus of the number 
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ie 42
π

 are          . 

67. The integral of the function  on )(sin)( 4 itttw += ]1,1[−  is           . 

68. The definition of zcos  is               . 

69. Log =                       )1( i− . 

70. The solutions of the equation  are           012 =−zie  . 
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76. The main argument and the modulus of the number 
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84. If  denotes the circle centered at  positively oriented and  is a positive 

integer，then 
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98. The square roots of 1+  are            i . 
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100. The definition of zcos  is               . 
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